[image: ]
[bookmark: _GoBack][image: ][image: ][image: ][image: ]
image1.png
/M@rm&_ﬂdﬁmk

ol A 1S formed
by the. union,“or!, or +he.
intersecton," and!, of two Simple
mequal;-hes

X oM PIES)—» -
XOMPIES)—» ~1¢X+2<3

X2 ondx2-| 243w or 3w29

Soluhion makes oot inequalites
+rue

I X43 ond x>-2. & imersecton





image2.png
) a4l ond O2-2

IR o, e e e W
Jo|-2£ a6 g

3) %42 and X2l





image3.png
G o e |

N -lex+a43





image4.png
2) HLx-HL2

S ———
5 @

ot o
=7 25C b

e ]

Unions(W)ver!! -
a sc\ution is a solution of
gitrer inequality, not
necessarily both \',1;075
: 30"
D b3 or b40 ib\"’
W}





image5.png
2y xé=l or x|

—O+——»
= A e Jiiy

x| %<\ or ng

Groph ond Solve
1) 20 +14\1\ OR O>3a+2

{a(qﬂsg





